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SECTION - A

i) General Awareness

Which of the following statement/s given

below is/are true about Vice-president ?

(A) The Vice-president is elected
by a members of an electoral
college consisting of members of
Rajyasabha only

(B) To contest for the post of Vice-
President, one must be a citizen of
India, not less than 30 years of age

(C) Both A and B are true
(D) None of the above

Parliament (Legislature of the Union),
consists of which of the following, ?

(A) President, Loksabhaand Rajyasabha

only
(B) President and Loksabha only

(C) President, Loksabha and State
Legislative Assembly only

(D) None of the above

Asia Environment Enforcement awards,
2018 awarded to which of the following
organization ?

(A) Wildlife Crime Control Bureau

(B) PETA

(C) CITES

(D) None of the above

4. Consider the following statement

about Chinook Helicopters of Indian air
force.

(A) Chinook is a multirole, vertical
lift platform, which is used for
transporting troops, equipments,
artillery and fuel

(B) Itisalso used for humanitarian and
disaster relief operations

(C) Both A and B are right
(D) None of the above

Consider the following statement about
BARAK-8 missile system.

(A) It's a long range surface to air
missile and medium range surface
to air missile system

(B) Jointly developed by India and
Israel

(C) Both A and B are correct
(D) None of the above

Consider the following statement about
the train “Vande Bharat Express” .

1. It's an India’s first engineless
train.

2. It's India’s first semi-high speed
train matching global standards
of performances, safety and
passenger comfort.

3. Itis manufactured outside India.
(A) Only statement 1 is correct
(B) Only statement 1 and 2 are correct
(C) All given statements are correct
(D) None of the above
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10.

Which Constitutional Amendment Act
provides 10% reservation in Govt.
jobs and education institutions te
Economically Weaker Sections (EWS)
for general category ?

(A) 92" Amendment Act
(B) 103 Amendment Act
(C) 102" Amendment Act
(D) None of the above

What was the theme of the 15 Pravasi
Bharatiya Diwas Convention — 2019,
which was held recently at Varanasi, UP ?

(A) Role of Indian Diaspora in building
new India

(B) Redefining engagement with the
Indian Diaspora

(C) Apna Bharath Apna Gaurav
(D) None of the above

Who was appointed asthe 17" Loksabha
Speaker ?

(A) Sumitra Mahajan
(B). Om Birla

(C) Prahlad Joshi

(D) None of the above

What was the theme forthe “International
Yoga Day 2019” which will be celebrated
by the United Nations ?

(A) “Yoga for climate action”
(B) “Yoga for peace”

(C) “Connect the youth”

(D) None of the above

11.

12.

13.

0 0 00O 0

Consider the following statement about
IMD world competitiveness ranking

2019.

(A) Singapore has ranked as the world's

most competitive economy

(B) India ranks 2 in the list, by this
India became most competitive

economy in the world
(C) Both option A and B are correct

(D) None of the above

Indian foreign exchange reserves

comprise of which of the followings ?

(A) Foreign currency assets and goid only
(B) Foreign currency assets, gold,

SDRs and RTP in the IMF
(C) Gold, SDRs and RTP in the IMF only

(D) None of the above

“National adaptation fund for climate
change” managed by

(A) SBI Bank

(B) HDFC Bank

(C) NABARD

(D) None of the above
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14.

15.

16.

Which of the following statement/s is/
are true about the scheme “Atal Pension
Yojana" ?

(A) It was launched to address the

longevity risks among the workers
in unorganized sectors

(B) Any Indian citizen between 18 to 40
years of age can join through their
savings bank account/post office
savings account

(C) A and B both are true

(D) None of the above

The Government of India recently
demonetized which of the following
denomination of currencies ?

(A) 100 and ¥ 1000
(B) ¥ 500 and X 1000
(C) ¥ 1000 and T 2000
(D) None of the above

Recently which of the following banks
are merged to become a India’s third
largest bank ?

(A) Bank of Baroda, Dena Bank and
Vijaya Bank

(B) Bank of Baroda, Dena Bank and
Syndicate Bank

(C) Dena Bank, Syndicate Bank and
State Bank of India

(D) None of the above

i

18.

19;

20.

O 0O O

Which of the following country tops
the medals tally at ISSF (International
Shooting Sport Federation) World Cup ?
(A) Japan

(B) North Korea

(C) India

(D) None of the above

“Boko haram” is a terrorist group mainly
found in which of the following country ?

(A) Bangladesh
(B) Nigeria
(C) Pakistan

(D) None of the above

Where does the 12" edition of the ICC
Cricket World Cup scheduled to be
hosted ?

(A) Australia and New Zealand
(B) India and Sri Lanka
(C) England and Wales

(D) None of the above

Who is the first woman to become the
match referee of ICC (International

Cricket Council) Panel ?

(A) Mithali Raj
(B) G.S. Lakshmi
(C) Smriti Mandhana

(D) Jhulan Goswami
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22.

23.

24,

25.
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ii) General Intelligence and Reasoning Ability

Find the missing series.
E, GH, KLM, 7 , YZABC

(A) JKLM (B) OPQR
(C) PQRS (D) QRST

The first 9 positive odd integers are
placed in the magic square so that the
sum of the numbers in each row, column
and diagonal are equal. Find the value
of A+E.

Al1]8B

5[ cl1a

D[E][3
(A) 29 (B) 31
(C) 32 (D) 30

Find the missing term in the following
series which is given below.

90, 180, 12, 50, 100, 200, ? , 3, 50, 4,
25, 2, 6,30, 3

(A) 150 (B) 250

(C) 220 (D) 1

What number should replaced the
question mark ?

2 2
2 1 5
3 1 2 9
2 3 3
2 3
?
(A) 1 (B) 2
©) 3 (D) 4

In a certain code, RUSTICATE is written
as QTTUIDBSD. What would be the
code for STATISTIC ?

(A) QSAVITWHB (B) RSBUITUHB
(C) RTCVITUHB (D) RSAUITVHB

26.

27

28.

29.

30.

Varsha moves 20 km in west and then
20 km to the left. Now every time turning
to her right, she moves 10, 30 and 30 km
respectively. How far is she now from
her starting point ?
(A) 10 km

(C) 30km

(B) 20 km
(D) 40 km

It was Sunday on Jan. 1, 2006. What
was the day of the week Jan. 1, 2010 ?

(A) Sunday (B) Thursday
(C) Friday (D) Saturday

How many times in a day, are the hands
of a clock in a straight line but opposite
in direction ?
(A) 12
(C) 24

(B) 11
(D) 22

i) Seven students P, Q, R, S, T, U
and V take a series of tests.

i) No two students get similar
marks.

iii) V always scores more than P.
iv) P always scores more than Q.

v) Each time either R scores the
highest and T gets the least or
alternatively S scores the highest
and U or Q scores the least.

If V is marked fifth, which of these must
be true ?

(A) Tis ranked third

(B) S scores the highest
(C) R is ranked second
(D) Qs ranked fourth

A and B are sisters. A is the mother of
D. B has a daughter C who is married
to F. G is the husband of A, How is B
relatedto F 7

(A) Mother (B) Mother-in-law

(C) Sister-in-law (D) None of these
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Direction for Q. No. 31 and 32
i) J,K,L,M,NandO are six family members

having different professions.

ii) There are two married couples in the family.
iii) M is a doctor and his wife is an engineer.
iv) Jis the granddaughter of O and sister of

L, who is a typist.

v) Kis the grandfather of L and is married to

a teacher.

vi) J's mother, who is an engineer, is the

32.

33.

34.

10-

daughter-in-law of a lawyer.
31

Who is the wife of M ?
(A) N (B) O
(C) J (D) None of these

How many male members are there in
the family ?
(B) 3

(A) 2
(C) 4 (D) None of these

Five cities A, B, C, D and E connected
by roads as shown below. Design a
route so that a person travels on all the

six roads only once.
B

D

Which of the following is true of a route
that satisfies the above condition 7

(A) The route starts from AorC

(B; The route starts from E
{C The route starts from B or D

D) No such route exists

If all horses are donkeys, some donkeys
are monkeys and some monkeys are men,
then which statement must be true ?

(A) All donkeys are men

(B) Some donkeys may be men
(C) Some horses are men

(D) All horses are also monkeys

35.

36.

37.

38.

39.

A OO

If = means <

A means >

[o] means =

X means =

O means <
thena+b @ c+dXa+h
(A) a=h (B) b2c
(C) bzh (D) c+d=a+b
Food : Stomach : : Fuel : ?
(A) Engine (B) Automobile
(C) Train (D) Aeroplane
Jane ranks fifth in a class. Sanjay is

eight from the last. If Tanvir is sixth after
Jane and just in the middle of Jane and
Sanjay, then how many students are
there in the class ?

(A) 25 (B) 24
(C) 26 (D) 27

The high school maths department
needs to appoint a new chairperson,
which will be based on seniority.
Ms. West has less seniority than
Mr. Temple, but more than Ms. Brody.
Mr. Rhody has more seniority than
Ms. West, but less than Mr. Temple.
Mr. Temple doesn't want the job. Who
will be the new maths department
chairperson ?

(A) Mr.Rhody (B) Mr. Temple

(C) Ms, West (D) Ms. Brody
Here are some words translated from
an artificial language.

pesligen means basketball court
ligenstrisi means court room

oltaganti means placement test

which word could mean “guest room” ?

(A) peslstrisi (B) vosefstrisi

(C) gantipesl (D) oltastrisi

In a certain code, 123 stands for 987,
then 234 stand for
(A) 876

(C) 768

(B) 875
(D) 886
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oltaganti 1 SR placement test

Tor y/=8 % 37 “guest room” BT HHT © 7

(A) peslstrisi (B) vosefstrisi
(C) gantipesl . (D) oltastrisi
w ffea e ¥, 123, 987%3%@1131
% 234 %o S Bl
(A) 876 . (B) 875
(C) 768 (D) 886
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43,

45.
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iii) Arithmetical and Numerical Ability

A 'XYZ' company sold an article at a
profit of 5% instead of a loss of 5% and
got ¥ 11 more. The cost price of the
article was
(A) 125
(C) T110

(B) 105
(D) None of these

Two taps can fill a tank separately in
12 mins and 15 mins respectively. A
drain pipe can empty the full tank in
20mins. lfall 3tapsfunction simultaneously
when the tank is completely empty, the
time taken for the tank to get filled is

(A) 10 mins (B) 100 mins
(C) 12 mins (D) None of these
Value of tan25r =
cot65
1
(A) 3 (B) 3
(C) 4 (D) 1

For what value of n, are the n" terms of
two arithmetic progressions 63, 65, 67 ...
and 3, 10, 17 ... become equal ?

(A) 10 (B) 12

(C) 13 (D) 9

73—21( 3244
If 7?_5; =497 thenx =

(B) 8

(D) 2

46.

47.

48.

49.

A cubic equation whose roots are -1, 4
and 6 is

(A) x®—4x2+4x+1
(B) x®—9x2+14x +24
(C) x3+9x2-14x+24
(D) None of these

The height of a tree is V3 times the
length of its shadow, then the angle of
elevation of the sun is

(A) 30° (B) 45°
(C) 60° (D) None of these

By increasing the speed of a car by
10 km/hr, the time of journey for
a distance of 72 km is reduced by
36 minutes. The original speed of the
caris

(A) 45 km/hr (B) 30 km/hr

(C) 36 km/hr (D) 60 km/hr

If a sum of ¥ 2,415 is divided among
3 persons A, B, C in such a way that
ratio of A's share to B's shareis 4 : 5 and
B’s to C's share is 9 : 16, then amount
received by B is

(A) T475
(C) Z500

(B) T675
(D) % 1,200

Two years ago, a man’s age was 3 times
the square of his son’s age. In 3 years
time, his age will be four times his son’s
age. The present age of father is

(A) 29 yrs (B) 36yrs

(C) 35yrs (D) 28 yrs
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TF ‘XYZ' FH O 9% H 5% w A
T 5% A W =41 2 3 11 T s
areft B g 1 4 G AT

(A) T125 (B) 105

(C) X110 (D) T & =S &

2 99 UF 2] HI AT FHL:
12 fiFme 3 15 fie § s g 1

g F=ft Wit <t 1 20 fime 3 @t

T Gehd! 8| T i1 i vk 9y @i
ST S T g @it 2, @ 2o il W o
T ATAT G A

(A) 10 e (B) 100 e
(C) 12fi= (D) T8 @ wrg T
tan25 _
cot65°
1
(A) 3 (B) 3
(C) 4 (D) 1

n% fore 9 & e 2 g9 it 63, 65,
67 ... 3,10, 17 ... 1 n df 9 ST &
e ?

(A) 10 (B) 12
©) 13 D) 9
73.2,: ax-14
i "77_—5,=49 al x=
(A) 4 (B) 8
(C) 6 (D) 2

46.

47.

48.

49,

50.
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s THg Tt s 9w -1, 4 3
6%

(A) x3—4x2 +4x +1

(B) x®—-9x2+ 14x + 24

(C) x®+9x%—14x +24

(D) T ¥ g &

U 98 i Hod el R A e ¥ V3
o R, T 5 o I R
(A) 30° (B) 45°
(C) 60° (D) ¥ 8 HKTE

T FR A i H 10 R,/ g e @
72 .. it gt 1 7 w0 o Ewa 36 i
5 B Sl o) FR A e i e ?

(A) 45 fa. o, /=@ (B) 30 fh.sft. fge
(C) 36 f%.. /=@ (D) 60 f%.H. /=7

Ife T 2,415 & T UM 9 =afFagi
A, B, C# 38 W& w1t ST fo A & W
T B W H STIU 4 : 53 B 9
1 C % 91 & 79 9: 16 &, T B g
TS TRT 2

(A) 475 (B) T675
(C) T500 (D) % 1,200
2 =9 gd, Uk =Afad 1 g 366 37
3g & al A = 7o off| 3 391 § I

1Y 3G I3 it g A 4 7o | S
forer <t = 3Ty #

(A) 2934 (B) 3634
(C) 353y (D) 2894
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52.

53.

55,
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The LCM of two numbers is 45 times
their HCF. If one of the numbers is 125
and the sum of HCF and LCM is 1150,
the other number is

(A) 45 (B) 205

(C) 225 (D) 115

The mean of 100 observations was 20.
Later on it was found that 3 observations
were incorrect, which were recorded as

21, 21 and 18. The mean, if incorrect
observations were omitted is

(A) 20.1030 (B) 19
(C) 20 (D) 25
Mr. Bean and Mr. Bheem went up a hill
at a speed of 10 kmph and both of them
came down with speed of 15 kmph.

Then the average speed of their round
trip becomes

(A) 12.5 kmph
(B) 12 kmph

(C) 13 kmph

(D) None of these

If ABC is an equilateral triangle of side
2a, then the length of altitude drawn from
Ais

V3 G
(A) ot (B) ot
(C) v3a (D) 3a2

The wheels of a car are of diameter
80 cm each. How many revolutions
does each wheel make in 10 minutes
when the car is travelling at a speed of
66 km per hour ?

(A) 4375
(C) 4375

(B) 288.75
(D) 4000

56.

57.

58.

59,

60,

A OO O

The value of k for which the pair of linear
equations 3x +y =1 and (2k — 1) x +
(k—1)y =2k + 1 have no solution is
(A) 1 (B) 3

€ 2 (D) -2

A cone of height 24 cm and radius of
6 cm is made up of modelling clay. If
this is reshaped into a sphere (without
loosing any clay) then the radius of the
sphere is

(A) 6cm

(C) 12cm

(B) 7cm
(D) None of these

Mr. Sam went to bank to withdraw
X 2,000 in the form of ¥ 50 and
¥ 100 notes. He got 25 notes in all. The
number of ¥ 50 and ¥ 100 notes he got
respectively are
(A) 15,10

(C) 20,5

(B) 10,15
(D) None of these

An elevator has the capacity of 12 adults
or 20 children. The number of adults
who can board the elevator along with
15 children is
(A) 4
(C) 3

(B) 5
D) 9

A survey shows that 63% of people in
a locality watches a News Channel ‘R’
where as 76% watch another channel
‘P’. If x% of the people watch both the
channels, then

(A) x=35
(C) 39<x<63

(B) x=63
(D) 29 <x <63
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2 AT 1 ST FHIIS A S8 HeaH
THTIEA I 45 0N 2| I U §E&A 125
2. 9.9. 99.9.9. FIM 1150 8,

 gEl ve @
(A) 45 (B) 205
(C) 225 (D) 115

100 THS&T 19158 20 B | 918 | 91 &
& swlaguTEa 9, 121,21 3R 18F
wq 1 Ifieifga fore mu 8| e wagon
=1 Fere & = 5Te @

(A) 20.1030 (B) 19

(C) 20 (D) 25

ot i 3R &t oty ua vl w10 fo .
yfa =21 i i @ sid € 30 15 fe . ufa
He1 ! Tifd | G0 379§ | 39 STESTe
sirea nfa gt

(A) 12.5 fr. = .afa ge

(B) 12 fa.dr.ufa we

(C) 13T di.ufe ==

(D) ¥ ® IS AL

afd ABC, 2a YT ATl U HHaTg s &, a1
A ¥ Ei9 T &9 F 4TS &

W 2a ® 15

(C) v3a (D) 3a2

U FR F Yiedl F1 =41H 80 6.1, B IR
FR 66 T . wfd ge1 i 7fa ¥ v &
2, a1 10 fire & v uftan foras s
ST 2
(A) 4375
(C) 437.5

(B) 288.75
(D) 4000

56.

57.

58.

59.

60.
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ka1 a8 W foreen fore Stiet 3 e gufteror
Bx+y=13MW(@2k—1)x+(k—1)y=2k+1
w1 FETAA B
(A) 1
C) 2

(B) 3
(D) -2

gt & 5w v 1 Furd 24 F.A. iR
e 6 9.0, 21 AR <o 3@ e |
gren sl @ (fomn gl =1 g3pam fave) &t
T i P g ?

(A) 6.4, (B) 7#.i.

(€) 1284, (D) T | IS T

#ft §9 dFH A SFT50 AT 100F
T % w9 # 22,000 Feen 8 3=
Fd 2571 fed £ T50 3T 100 %
Fo9n: fraa 2 7

(A) 15,10 (B) 10,15

(C) 20,5 (D) T | IS A&l
us forge < ariar 12 53w o7ya1 20 9=

21 15 9= & a1y e agwer e 1 =g
TFEAE 7

(A) 4 (B) 5
(C) 3 (D) 9
e gagy e & % o = % 63%

@M ‘R =S 9 <Ed & SaiE 76% T
I =294 ‘P’ °E@d 81 A% x% =AfF A1
A9 2@d &, al

(A) x=35
(C) 39<x<863

(B) x=63
(D) 29<x<63
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61.

62.

63.

65.

66.
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" iv) Hindi Language and Comprehension

&=t wrw st Ay
forme foredt ag fosiw o frdfi afda & | 67. SRy 1 faeim wse @
T 1 S & 3 fae wes (A) TR (B) =
ed 2l (C) T (D) wda
(8 Sl 68. fi: +ww
S (B (A) Fss (B) fw==t
' ST ST e FN B BT B ) Fma (D) Twsw
(A) (B) = 69. I YATAaTH! Sgs ffay |
(C) =m (D) HWEH ) W %)
29 + Rl = ) g F) WUE
(A) ®) M g i m g
c) Tafd D) #é 7 i %)
& & 3) M3 %) femet

o fommrt wse @ o ¥ et & (ag
71 wifer) sR # Fo Ty fomn s 2, 34

Fad &l
(A) Toam (B) =
(C) Fal (D) *H
i1 qaTR e ¥ fort «ff wa1 % 9 s
2 39 A vse & FEd &l
(A) gETm (B) wIH
(C) Tawfa (D) w4
‘TH A W G Bl U T
FH B
(A) =™
(B) #Hd
(C) wfasg

70.

7 i

(@) (M G) ¢ ©

(A) = ¥ @ ¥ 7
B @ € WU F W
(C) F 9 @ T
(D) = T @ %
HTSTETE %1 374 &

(A) STaR S aTgaTa

(B) foraeht gqeimd gest =1 et et &
(C) 3T S| gt

(D) ST e foaeh =1g et & 98

et i ST T ST O | 3 AT
AgaAHe
(A) et st

(C) g

(B) FM
(D) =T
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e AT 39 A H A e
(A) ST W T2 9T BT

(B) ETSHI @& BT

(C) &= ! four 7 T

(D) U STET 3T

“GTET 9188 T AT &Y &

(A) @Tfer (B) &GS

(C) wreT (D) s e

EEGIBICH 94 H AT Bl B

(A) sgE=d

(B) fga=m

(C) Tha=H

(D) sga=d 3R Uha=A qHi

Srea foflay |

) THTHE ) Sgelie wHY

an) fRewe @) sgowM

3) HENS ) ST Ty

) WeN-gU W) qoEN T

3) < T) FHYRI GHH
@ M G & 6

(A) T ¥ ¥ ® %

(B) & > S | S

) @ F ¥ 9 T

(D) T @ % T H

HHY a1 81 98 9 Toram =1

ISR 2

(A) FTFHS (B) TeHUF

(©) foerrd= (D) =g e

T

78.

)

80.
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g + 3991 = HIA=S1 98§ @
IETEW B

(A) (B) T

©) e (D) =9

‘TEl A T FET B TW AN A ‘e 4 ' U

N foiwor

(A) TETER (B) wEAIEE

(C) fmwaEiz (D) AquBIE

Srga fafiaw |

3) %) A gH Y

1) T @) Hogm

3) wfesg M) et S §
(&) (=m) (3)

(A) & T o=

B) F @

C) = g bl

(D) 7 @ %

STrga fafiy |

) off + g3 =21y %) gfe

) WET+ WM =mEM @) I

3) A +3fw =wgl ) < |y

) v+ 3wy = yoimg =) qu

(3) (am) (3) )

@7 T @ a F

(B) T T @ %
© @ " T ®%
(D) T FF @ |
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v) English Language and Comprehension

3SR v 3k Ay

Identify the figure of speech in the following | 86. Ivory readily adapts itself the
sentences. carver's art.
81. Thy soul was like a star, and dwelt (A) in

apart. (B) on

(A) Metaphor (B) Simile (©) to

(C) Metonymy (D) Pun (D) of
82. He has many mouths to feed. 87. 'Heisinfatuated_____ her.

(A) Simile (A) of

(B) Interrogation (B) at

(C) Synecdoche (Gl tor

(D) with

(D) Irony

Fill in the blanks with appropriate phrase.

83.

84.

He

(A) backed up
(B) stick out
(C) fixed upon
(D) cried down

his friend’s claim.

He was much
(A) cast away
(B) cast down
(C) fell back
(D) got off

by his loss.

Fill in the blanks with appropriate
preposition.

85.

-18-

There s still no cure the common

cold.
(A) by
(B) to
(C) from
(D) for

Choose simple sentence from the following.

88. (A) Jumping up, he ran away.
(B) Night came on and the room grew
dark.
(C) | waited for my friend until he
came.
(D) |am as strong.
89. (A) He is slow but he is sure.
(B) Come in or go out.
(C) The boys had not finished the game
by sunset.
(D) As he was not there, | spoke to his
brother.
Choose correct indirect speech for the
following.
90. He said to me, “What are you doing ?”

(A) He said to me what | am doing.
(B) He asked to me what | am doing.
(C) He said to me what | was doing.
(D) He asked me what | was doing.
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91. Gopi said, “ | know her address”.

(A) Gopi said that he knows her
address.

(B) Gopi said that he know her
address.

(C) Gopi said that he has known her
address.

(D) Gopi told that he known her
address.

Identify the underlined word in the following
sentences.

92. Each of the boys gets a prize.
(A) adverb
(B) distributive pronoun
(C) adijective

(D) helping verb

93. Govind reads clearly.
(A) preposition

(B) adjective

(C) adverb

(D) verb

Fill in the blanks with appropriate phrasal
verbs.

94. The thief the traveller at
dusk.
(A) hang out (B) held up
(C) hangback (D) held into

95. When the two men
the gain for the third.

(A) fall off
(B) fall out
(C) gavein
(D) hand out

, itis
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Choose the word that is most nearly opposite
in meaning as the words in capital.

96. FACTION
(A) band
(B) pressure
(C) fraction
(D) whole

97. MANDATE
(A) approval
(B) ratify
(C) assent
(D) denial

Select the lettered pair that best expresses
a relationship similar to the one expressed in
the original pair.

98. Cow : Herd
(A) Grass : Green
(B) Wolf : Pack
(C) Bald: Hair
(D) Horse : Jockey

99. Wood : Carve
(A) Clay : Mould
(B) Pipe : Blow
(C) Paper : Burn
(D) Trees : Sway

100. Select the wrongly spelt word.
(A) Synegogue

(B) Theosophy

(C) Nemesis

(D) Agility



MKG-XVIVTECHTUAT/04

.SECTION-B
Post Specific Subject - Related Questions
16 I 03l puslpufss 107 sV L P A
o ,
ﬁ @ O e ) W ® ok B
D ™ (C y .
i i 7Ol (D) Wl (©)
s el H 7 M 108 ;i
W ® YW el e o
i (- Lhs e/
s 0 Wy © § .
. v Al (B) deser (A)
i HEFAds 109 0 efs ©
#F ® o s y
Uree ©) Lkdp ©) £ P el
T < ¢ (B) = (A
"W s M g Sl 110
i 5 <z (D JU2 (C
o S S © HF ©
»1625 (B) »1639 (A) «J cj",b.udw‘/v,ﬁ(ﬁulu.‘dﬁw
#1543 (D) » 1672 (C) L}L*" (B) s (A)
s fofradpod M| e ® b ©
-1 (B b (A .
oA ) re @ Lk ey 9L Yumir s
u,fw (D) &t (C) q_:;’.lmb:/’:‘.'.-m
q_«i:ﬁéu'ﬁ:rc?;}b/ 112 LﬁL":J;j (B) j; (A)
7/ (D C
Ut g Ly (A) = &
?-balﬁ (B) ELUJ,;VJ’[(JM#LU'(JUME!I?
-1 (©) d’f ol s/ (B) B E (A)
w2t (D)

-20-

Ut (D) ookl (C)

101

102

103

.104

105

106



I O A OO

Kedwe L, S

§G- Oy

SF By e (A)
3 (D) %9 (C)
e w6 BT F
Koy B)  KULGS (a

K’L‘)EJ-&/{‘J’ (D) K¥ulind (C)
s> i f‘:ru:c'}ﬁeﬁ

s (B) 05 (A)

37 (D) 7 (©)

f et il AT el
nl (B) ¢ A

Uh @ 5 (©
sWedb il pe oy
Y (B) e (a)

G5 (D) 2 (©)

s b PO e
ST B i fE B
Yol D) Ll (€)

21

118

119

120

A21

122

123

MKG-XVIVTECHTU/IT/04

"yt Jrdsd e 113
S P 5
UF (B) 2 (A
Z O Ty (C)

sl Y Ul g S 5T o £ B 114
PeS U L

s 3L
Urosy B 28, ®
Tozdd O Tyd, ©

S UL L7 sl al K p 115
JF (8)

Zr (D)

S (A

s (C)

serlyt A d e 116
NP

:LTJ’:’ (C)

Mulzst (B)

MA D)

Feor i rsLpd e 11
ya i,

=2y (B) ey (A)

e O .Sz (C)



MKG-XVIITECHTUAT/04
Sl Tk R )
g
LBl B)  wesl (A)

&/ = (D) rul'rﬂr‘él!’ (©)

Lol pe W
G @ 2drw
Jetly (D) b (©
q_.;_hﬁd;ufamb’"‘jssulm"
Wl £ (B) ety (A)
s ©)  E# ©
F eFal
-c;-JmLc.IJ

3~ (B dve (A)
¢* (D) d= ©

o it L iz Fop T
dve g S @
¢* (D) & (©

-22-

128

129

.130

131

132

00000 00

st LF P E il
LF Gl (A)

Ll ()
L

L detne ()

s el L 8 p2 s
M%)

Fas Usly (B)

Ukt (C)

i £ (O)

F P sl o e e
SUIEm P Unp é

2Lz B) 2Ly (A
LLpe oy LLL (©

sl ol dip

P AT
»l (B) gA (A
= (D) ¢ (©)

124

125

126

27



| 00 0O

selur L Bl Jole .

-V e tlp s
4D e gt e P
Aket e e pé

el (B) &, A
Siler © Yy ©
'i_U/Lde'Lf//"’VvJ:'é-—LJ’:E'JU‘
1911 (B) » 1907 (A)
»1900 (D) »1905 (C)
q.mc";lﬁ UNiOg J("é_xﬁl " ook I
»1937 (B) 1932 (A)
»1940 (D) +1936 (C)
&l e SF U Gl A
Sl (B) =4k (A)
Hes' D) “& (€
zbuwluﬂvgﬁ"géicfﬂ

sl A Ut

& (B) Vs (A)

e (D) # ()

-23-

137

138

139

.140

144

MKG-XVIUTECHTU/T/04
feir e (e 3 o) 133
W A
ety (B)
Cf @)
e uwr:( (D)
§Ut f o Lol po 134

o B
S s (B)
dmr‘ﬂ—”g' (C)

ditiy (D)

b U'Gm' t,-,-f:fZ'ub' "J.‘r‘c:ff,rb 135

of o i
$zf (B) 2l (A)
¢4 (D) Ger (C)

suf U7 bl & Ul 136
S el B)  wlzly (A)

214 (D) Sbtl (C)



MKG-XVI/TECHTU/T/04

-24-

sy & b w((j‘uf,_'
A& A

AUK (D) G s (C)

ke (B)

ol ( 0] L"fﬂﬂ "o
qUI P MU

vz B )
£iged (D) Gulz (©)
LiulFg,)

N A (4

Ve B Lz, @)

# (D) &4 (C)
sl e 1L 47 55
i B ubdy A
G D) £ (C)
Al Pb LJ/::-U_" S d‘ﬂéﬂ&
Wby J 2 L

b B  FA @)
/4 (©) % (©)

147

.148

149

150

161

S S S i
Wi

Y,
&4 (B) 2k (A

Fel O  Fsysr (C)

stk Lgfau

&tk B uwzdS B

U, O) ezl (C)

}ﬁrLﬁJﬁJbUELJVOP’J{
ﬁc,'.h’TﬁquJ

weisl B) e ()
Ade (D) .45 (C)
Lol ¢ wn P
s oy

Uz B A
S o Te ©)
§ &y & F e AL
HE B 1 ®
Hey O i ©

142

143

144

.145

148



10 0 0 0 000

do b/ Uk WP U " iy

S5, (f g (A)

Qb S 32 (B)

K5 (C)

#L 3¢ (D)

= e O
&by

lry (B) A A

& D) b (C)

s& Oy d&knfu/u.‘?b”

/. (B) iy, (A)
8 o) 6 (C)
et/ P e o
R
Hles 8 T @
& o & (©
¢ = éb’u(._u/@uig}fri
e B) LfEied (a)
W& 0 ke (©

-25-

157

.158

159

160

161

MKG-XVIVTECHTU/IT/04

(_,C'J/";’ c,f_Jslfi JJJ'U/U: G
ﬁu:':'i..muﬂ

Wé B) Uy (A)

GULatls © P21 ©
A8y L (el sk

Wﬁ HO/L{J /

Ui B)  uvaeyl (A)

-t (D) 4 (C)
et < pt b U
78 ® e B
wlge (D) ely (C)
o H?l?(J'"L?fn"/cf&VLf(
J# (B) & (A)

s (D) fy:UT (©)
Jsfé‘f?y':cf)‘rb (J;u’lgﬁ*’u’i/
se S L Ly U

() w2 (A)

J* ) $# (c)

162

153

154

.155

.156



MKG-XVI/TECHTUAT/04 AP0 0 O 0 00 0O S 0

ferdo 44;..,.,-@1; 167 SN O (NPT ST
AN Ve .
. wrkden ® P @A
iy (B) Uy A
VL) Ty (C) Jaf ©  uraldl (©
P IF s LSy 5 Girop oo 16
e - - - l—-‘y
w7 (B)  vsdE (A) - —
. siluld (B) Sea (A)

#(313 shy (D) _:?f;-,:’ (C)

ey O 2 ©
Epe _ Pedigd Jp 169

dla (B) Qbaes (A iq—ay‘fﬁ’g/'dﬂs.‘r’" 164
4y (©) & (©) Uit (B) o’ (A
sz 0F S St e 170 W (D) Ui (©)

il B Eaids (A

)’ ) JVLWJLA(/L{CﬂrlJ .165
Gyl (D) Gl (C)

gc;_'JiJc'_Ju’( g
eyl U 2P bty 171
£ (B) G (A) el gy =/ (A)
=0y (D) % () #HE o) 5 ()
A dil 172 . é.(_)’//ﬁ 166
erp L de»"»‘?-uﬁ’zka'ﬁ)ﬁ
LA ’ £ 8 v
G (B) 2 (A) ek ~ qu-/:' ¥
' /2 (B) <t (A)
# o) () Ty (D) G (©)

-26-



L&, = B Fpul -
é‘)’ fjs L (A)
éV ds (B)
Lefesl (C)
¥ Ul (D)
q.liLfre I,.,J(L‘jf)
sk B ks A
LGl D) Uhdd (©
s o G 6P U
W B Ue @)
Aib‘["u (D) ;_.;ul/_.a (C)
e Vet gl & o s
LSy A
Ly¥JST (©)
K ©)

27

177

178

A79

180

MKG-XVI/TECHTU/IT/04
ng_-' u,f,‘&é sl Jh'-{.uf ox bt 173
Eop A

Jb by (B)

JUl e (C)
A (D)

g e e s 174
s bl

S AE A
SAITA (€

L ®
sHiZSL ©)

e Wt S o ¢ 175
AN
Ly rf, L (A)
wd ®)
L Feu (©)
VU

o Pl sty ate

»1817 (B) » 1805 (A)

» 1857 (D) » 1830 (C)



MKG-XVIVTECHTU/T/04 D A0 0 OO 0 0

thﬁa*?é/%’sﬂ'—ﬂséf 186 Uf:uic:’.."l:u'(" Walp " Uik ¥z £ 4 g4
. 12 i sy e
Sy ®
Yesslf B) Ubsle (A) &t ®
AT 0 Ehile © o (©)
o N e (D)
S4B S G Qe 187
d"juz)l*’ (B) J!/"J:?’LJT (A) ﬁiumtéﬁ:{g lﬁg}(‘/f_’:,’r-"é 182
G 0) el (0) SEEAE B g A
qq_u/d,tuﬁfrﬁrf_& 188 sed O gk ©
L}fg)li_f’ (B) oyt (A) d-l‘L'L/.z-;”Jl K"L{Eﬁ'LdJiajL" .183
W
o © I ©
Lﬁ:}m? (B) L.)j,ﬂ,f (A)
sUf M Ll ol 14 189 JiP @ ek ©
—FAF (B A (a) .
s bl Kb/ P Y SUS 184
Eztfd‘}g'l (D) d‘:('t.f (C)
Jrt (B) e (A
e G LR ward ©) P ()
q&.ﬂt’}tﬁc:rbgﬁ,
re IS sy 185
Fe B S% (A - .
ke & ## (B) A6 (A)
Lled¥ (D) Jil (c)

«*# (D) dal”u’b (C)

-28-



000 OO0 OO0 0

G by C’,lia/fu/u/ J, 196
FONG)

) (D)

s L, (A)

ds (©)
A U R T

PR
<@ LU @
&l () Le (o)
q.mu:u?u/ JET K0l =~ 198
1937 (B) 41950 (A)
41951 (D) 1952 (C)

se =t Jre o eledun’ g0

U;L,T;l/“f (B) g,gTé" Je (A
SIS O s (©

s b u'("/“(cé LY 200
de B pess (A)

e O Lol (€

MKG-XVIUTECHTU/IT/04
ﬁq_uf/.wﬁ(;ﬁ%(ﬁﬂﬁ 191
2 (B) ds (A)

A D) i (C)

st oy K L ke b 192

Uz, B mafa A

2% 0 S (©
st & L vl s 103
Gl el B ke ()
krids 0 ol ©
ﬁ‘?—&gifw("dﬂu‘»/.’"dsb 194
K2k (B) // e (A)

B D) Il (©)

ﬁ..’:'. ;»l,}.J,{:'r!

émsl (B) JI.JUJ (A)

-29-



MKG-XVIVTECHTUAT/04 D0 00 O 0 0O O 0 0

SPACE FOR ROUGH WORK
I & & fore wum

-30-



10 000 O O 0 O A MKG-XVIVTECHTU/IT/04

SPACE FOR ROUGH WORK

% w1 & fore e

-31-



MKG-XVIVTECHTUAT/04 T 0 D 0 0 O
IMPORTANT INSTRUCTIONS TO CANDIDATES
Ifiqamt o T wewagul W
13. This booklet contains 32 pages. 13, 78 yferm 7 32 9 2|
14, Directions : Each question or incomplete | 14, Féw : Yo% W YT T8 W 97 % 91Q
statement is followed by four alternative IR IR FYE TF FU IR W F | v T
suggested answers or completions. In each 3
case, you are required to select the one that & ot = it bl S A W wE W
correctly answers the question or completes the T 3T HEH B R AN R Fer afe
statement and blacken (®) appropriate circle I9YTF MR @A A, B, C 31 D %t fremt a1 ren
A, B, C or D by Blue / Black Ball-Point Pen sz s @m
against the question concerned in the Answer i :{ 3 : (03;?{‘-11 ¢
Sheet. (For V.H. candidates corresponding Fwifigand & o W Memen fofw gro
circle will be blackened by the scribe) Fen foman )

15.  Mark your answer by shading the appropriate | 15. Yo% W& % W+ 3fua o0 = Rrgis w6 3w
circle against each question. The circle i
should be shaded completely without leaving S %é I  Fen et w9 |
any space. The correct method of shading is iRl TR R ¢ |
given below.

Wrong Mathod || Wrong Methed || Wrong Method || Correct Method Tera alenl | TTea alhe|| Tew wier || wd o
O®00Q(0GOC0|IC@00|0eQ0 O®00|0P00I0O@O0I0CeQ0
The Candidate must mark his/her response i ! ST IR RS G = % I
after careful consideration. Rafa e =fRe |
16. There is only one correct answer to each | 16. ¥I% Y99 H1 ¥ac T & G I & | FH9H
question. You should blacken (@) the circle of TG Hiem 319iq A, B, C 91 D ¥ TiesR @R
the appropriate column, viz., A, B, Cor D. If = H (@) FE R | 7R I R PO
you blacken (®) more than one circle against (®) : b
any one question, the answer will be treated T A 3w MER @A w W0 (@) T S
as wrong. I T SR |
17. In case of any discrepancy between the | 17, afe fret wea & f&=< o 3 3raR & =i
English and Hindi versions of any question, ¥t & A SR SrETe T SR |
the English version will be treated as final/ ¢ LE
authentic.
18. Use the space for rough work given in the | 18. %3 &1 % fore shae w7 v & g ™ wm %1
(S}uastionBooidetonlyandnotonﬂ'reAnswer mﬁ*mmmmmqqﬁ|
heet.
19. You are NOT required to mark your answers | 19. 8 qfte & orat onael I sl i @ € |
in this Booklet. All answers must be indicated TR A I U H A3
in the Answer Sheet only.

Go through instructions given in Page No. 1 (Facing Page)
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